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B.A. 3rd Semester (Honours) Examination, 2019 (CBCS)

Subject: Sanskrit

Paper : CC-VI

Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answer in their own words
as far as practicable.

t. rfq'aww+r teTrrrfr ferqr q rg-<v-#qqtqqrvfr frqrrn(rorfdqq ra-*qqqrtqqr 2xt0=20

ffiF1g S1efi1 x$ qafr afarr$sK cqmt r qftF kstE cqnn qs\e-s"rcs- ffi aEflvUe< firc
q6< r ercF Ew< aqs vr{H ,{<( 67qaffi frt}rc fr"rp qc< 

r

'q''-frr{r{r

h'-fu?t

(a) EqqsftEfqe gfr: a&n*q s-rqTui Hil{l
lgqfqstt' \ryTffiq $rf, eff qsrar qq'ct ffie{t r

(b) qrRfiiq ur?

q.lB $'16$ <(E?

(c) Ffr =nc a1{qq-gn{

q(lr-F $l-rc <ee?

(d) rqqi HsrTrFr lero r

rtqBIEf{ q-<4 C{e?tt I

(e) ffi:trtHuifloqol.qt
'ql-Ff*' g5{-< qsq FI63II I

(a) 'q1sffi'qfr qi
'qlqffi'qQ{G

(b)

ttq'-frr{rrTl

.q'_fu1a1

't' EfdqEs dtsd:?

't' qQ 4u?3 qRt f, r<I<ttnl RLTCqT

'Efd r€rg $nSqnrEFWtu-€relrs W: a-st r*1?

Please Tlrrn 0ver

'q;pqqiqsqffi:' drq{ ql1vtfr$ <E-{'f$fE Beeq +r<tr ql d(E{ 1ft< nm frl
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(c) 'qoiq' 'vq*fu+rxr+q,Efr qEf+s qrQf*i ferqaqr
'iPh' q<( 'Eqfifusrcrqq' "k(F{ 4tdsi ffit scal I

(d) srqrcilEsRur ,vE6uryE56'qfr qqs e[eiBf ffifsqq,
<l\C{ir qF 'qEETrq{6r0' olm( RE q.I qRSf< +rrtr

(e) qIFilSA '6rai rd qei q, Efr TEi opi ,'r€r{ 
Efr vEs EdFrtqr:?rqrd rrd qEi q' <lx{-fs .{E E&cq ,rr€i' 

"m{ "Ffu.f cfi srr EffiR?

rq'-frq1q.

't'-fut
(a) yelq: Efr eEisrs *iar {rqorqr

vdq wq<+.RT-{ qg.f qNe 
t

tUl wqeiqr*q Effiui tqsrqr
'Bvq1' EairclcR< BqRnq c.lls r

(c) swrttiril{s €sdl ,f{q-6a, 
Efr qEs f6 ar-qqtq?

'qg6' Erqffim-{ qqH ,faqr6a,- .ft. 
"fm-< sfqqdfil

lay' erfrr-dk:' gspi-6ss BEt6r0i *qcrqr
'stffik:, qElislcr{ Eq.R{q ne t

(e) {fltcff<{ungqr( eqeffl{: *,ftrEq:? *.t?
qtfurdq w{qtr.T EdTreEr $E EFr{ s fi fir

2. erq:{f{qfu x*E vw*r{ ?Esr qqTqqq.r fu qqfu'*fu risfa*nqqr Rrqarq r Sx4=20
fitu* enefr-* Tc{r rv @tdt Dtifr,etaFtgr Rf€ | ufn xw Vfr aaater qqg vmlrr Grc{t I

(al e{qffiqqT*+r sdFrufq: q.frq: 
r

E{"t fr6l.i ffi W,R.fs scstr
. qrqRrrfu qq{il!ftqrfr

1r) '$ ftrqr; k*fusra,- qifr( qrqFmq 
I

'$ ftrw: fuiF+-erq_ WE <itcr.t sm.tr

qqrql

rq qIrc[EEAE{efud,_ qrfu( qrqFftnql
t1 vtrq*dqeiTd,* {-eF <iFW sKTr
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(c) tqai ferqtrqt

f<w 6qc<Il I

qq5-sqlqTr

(a) ed6n: fufiqnrqt

w{isl{ fifr +r<tt

E6({r6lq: 6ltri qilffi rraR t

ve1lremffi q5raff Tflqrnll

qEq;

sf{ fi qTcr sld ert verqrMq: t

Uqr 1uqsfq-cilT{q 
qr*5+t i6i ll

tel qiwqagsR"r rqfl-qdqfrfiR:' Efr {d.{. sretqdrql

<Flfl{ qE w-{ryR-< 'ffiqei'qin:' {gF \ffcEIE-{t strl I

(0 tdr fqsaqt
fto mcqfi s

.tSqt tfr: erq* qrgrd ffi:
10x2-20

3. eTStmffiS ufu r*r+vnQtq :

ftE etsefi< EC{I fF 'eaffitE{ s'Ne e

tal q<r*r<rqs<k(Ts*: eqTEilErfluTg{:{tq orahqcl qrufrcr t

T{l4l-gt e <q-sBFf's qTq-{ ES6i s EqR{'t qlffilD-{l TtA I

O) filEetcr{Erd{it: ttqutnr6{ul5t:vt1 en('iq+t q'tufrqr t

fiFfi'r e @rs qalisl'cffi qwt € Bqr<q qrrdu-{t $c{l I

(c) 'qffii ffiqsq'- Efd qr1 erdrqdlqt

'qffii nftcrmqt- q$fr qlcltFil srfl I

(d) sTr+rfi5gRrl'Erqrs'Ifr ' emir;r<r(l

<Fll3i{ ntr W{416< Stilsq{rq{ ql(EtE;il $.r<ll


